OH21IEFEhig = - BEE EA10YE (ke)
N a = == 2E
— nHE x= RERKE 18 Eamy | FHESE | (o)
ES 452,966 1,770 0 0 454,736 90.70
20001420 BIEAFLY) 46,000 0 0 0 46,000 9.17
3| S EKFZRUVZDKAME 0 270 0 0 270 0.05
4(1, 1, 1—kyyooxT4y 0 86 0 0 86 0.02
5[R 50 3 0 0 53 0.01
N EA 40 0 0 0 40 0.01
A s S ~ A e ie S ~
7 %1;%17/& EY(EEIE RV T UBIER 0 29 0 0 29 0.01
8|IEFXFRUVEZEDILEY 0 26 0 0 26 0.01
IVOLRU=MmyOLILEY 0 14 0 0 14 0.00
10{/Nfi~ 8 L1E &Y 0 14 0 0 14 0.00
FDith 36 61 0 0 97 0.02
a&t 499,092 2273 0 0 501,365
=E (kg) -
JlLE{-L q@ﬁ% -F7KE $¥Fﬁ'y1‘ %5@]3 (=] l:l+ (%)
ES 0 35,090 35,090 84.97
200900420 (IBIEAFLY) 0 4,600 4,600 11.14
JIRVAVERUZEDEEY 0 330 330 0.80
4|/0LBRUV=MY0LIEEY 0 60 60 0.15
5|TFLIS)a—IL 0 38 38 0.09
6 I?L/‘/O:'J:I—IIEE/I?-)[/I—F-)[/ 0 30 30 0.07
7 ;itzb Ja—I)LE/IFILI—TITE 0 20 20 0.05
8m—K)LTAY 73—k 0 16 16 0.04
NTUFEVRUZEDILEY 0 11 11 0.03
10[F LY 0 1 1 0.00
ZDih 0 1,100 1,100 2.66
&85t 0 41,296 41,296




